',A/“\

- — - —
© I§ - M4 Vi +7g Vig = 74 Upy + g T
= ma (R, T 7
o = e (Vin =Tew )+ Ui = 2 (15,500 =Lby30) 0,5

= 0D + &FIOS> =48 Ms

2 . ‘ 2 ' DHLE
iz 3 vig + $ Mg Vel = 4 (o) (5743 | 3Rt )

g’L
ARV asl
_ L e i 1 . . —
Ko= TMe e +075 U5 = £ (200450 2+ (34 ae+7) B

Al = K{.’Kf: -3\5 3

@ Comsv. 1 omindi (%) Mie Vikoi = Mg Vi €05 G +Mpls €5 Ep

(:p 9 = m&vwﬁ SM&&‘C + MOU:'J)’F St Qo

S ?Wmtﬂ“g ’é?“f»*‘““‘u = MV 5O - (bbtsD b Yo 36T T J5in €4
ok W, -Gy - f(z; (as’»&oxuiz"kq)qm (=40.4°)
= a‘SS\huO" m/s

Qb) Frow L X QT{A,Q{'\W‘-

Uie

(= U £ Cos e + %—: Up g Cos Oo

ot A >
) 2 {aS'LoYét} 4 o? S—T{}(/Jé ™IS (——%O.V )
= @(o”bb\m ’l;»)aos 4.3 + wé‘b , 5”}(/0'2%, ( 3 )

= 376 Wt



V5
m /01,/:'\@

— >
U
&%Q 4
3

Cms:emdwmﬁ Momesdy () Mw.;(}?{}@w@
(%}) @%}[%‘7) = (3o sl

so= 2 o AU
(oSG = BTPL 118 e
o> et _,

CHO+ s = @ + Elop

= < o= 2 S = 53.1°

—

B Smvt (] +24)= l{’”"’{/g)




